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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — —
ZFhst 1.00 | 000 ~ 468 58.55 | #nLst | 0oo ~ 468 1.83 9.27 ZhLlst 1.00 | 5.00 ~ 5.00 5835 | TS | 5,00 ~ 5.00 | 1.83 9.27
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — - ~ — — |3mZE#BZ B - ~ — — —
ZFhust 1.00 | 000 ~ 557 69.58 | TS | 0.00 ~ 557|1.80 9.11 ZhLlst 1.00 | 5.00 ~ 6.20 69.58 | TS | 500 ~ 620 | 1.80 9.11
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — -~ — — |3mZE#BZ B - ~ — — —
ZFhst 1.00 | 000 ~ 637 80.10 | #nbls | 000 ~ 6.37] 1.93 9.78 ZFhst 1.00 | 5.00 ~ 805 80.10 | TSt | 500 ~ 805 | 1.93 9.78
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — - ~ — — |3mZE#BZ B - ~ — — —
ZFhust 1.00 | 000 ~ 699 88.62 | #nLst 000 ~ 699|1.79 9.07 Zhst 1.00 | 500 ~ 871 88.62 | TS | 500 ~ 871|179 9.07
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ZFhst 1.00| 000 ~ 687 87.02 | #nhist | 000 ~ 687 1.80 9.11 ZhLlst 1.00 | 500 ~ 849 87.02 | #hLst | 500 ~ 849 | 1.80 9.11
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ZFhust 1.00 | 000 ~ 6.06 76.02 | FhLs | 0.00 ~ 0.00| 1.68 862 Zhst 1.00 | 5.00 ~ 7.00 76.02 | ThUUS | 500 ~ 7.00 | 1.68 862
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ZFhust ~ ZFhust ~ Zhst ~ Zhst ~
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